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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
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e 15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 - 5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 11 and 24 - 26 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 12 - 15 and 27 - 30 are long-answer questions carrying
6 marks each. Answers to them should normally not exceed 100 words
each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

%H HITd TR gl 8

(31) gt fcfirar o eF=aid

() STUTYUPR & =i

(B) UhIhRIcHe JIqAIar o =i
(3) USHIUHR & F=wHq

A firm is a price taker under
(a)  Perfect competition

(b)  Oligopoly

(c) Monopolistic competition

(d)  Monopoly

ST HTd STl I it 8, q1 el SUANAT

(31) v e R
(9) =W Bt B
(m)  Aferehan Bt &

(3) FHRIHH Bl &

When marginal utility is zero, total utility is
(a)  zero

(b) minimum

(c) maximum

(d) negative

Teh 9%q W TR T S 3Weh! A | ditEdd i feem @ faudia feen § shaat

qs FCTl 9 39k /i

(31) oA=ER &

(9) SRR &

(@) qoiaAn SRR 8
(3) 1S AAEER &
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The expenditure on a good would change in the opposite direction as the
price changes only when demand is

(a)  elastic

(b)  inelastic

(c) perfectly inelastic

(d)  unitary elastic

$G%h IT=Ad had $S (dshdl BId &

(31) ot wfenfirn

()  ehIirhRIcHes Sfdaniar
(|) umIfEeR

()  3rcuTiEhr

There are only a few sellers under
(a)  Perfect competition

(b)  Monopolistic competition
(c) Monopoly

(d)  Oligopoly

AT 1 fF=m sqrsy |
State the law of demand.

UH g dF hieh IdT3T fSeh 10T HIT dsh <Rl 3T Ra@eh HehdT B |

Give any three factors that can cause a rightward shift of demand curve.

Teh 31800 <hl TERIAT & 1B AN o1 378 THTEY |

Explain the meaning of opportunity cost with the help of an example.

IeATE HHTEHT 956 qt-forrg 1 3R Taqet 1 il & 2 eS|
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10.

Note :

11.
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Why is a Production Possibility Curve concave to the origin ? Explain.

OR

Why does an economic problem arise ? Explain.

AT IfeaTo g 1 31 THEATSY | T 9&q i gE o o Hfeeenud
T IE T Tedl & 2 THEATST | 4
ST

Tole T@T 1 319 gHEEy | 396 foryg RuT © Yfedd 8 Hehdl & ? THEST | 4

Explain the meaning of marginal rate of substitution. Why does it
diminish as one good is substituted for the other ? Explain.

OR

Explain the meaning of budget line. What can cause a change in it ?
Explain.

gftad! sruTat o fem 8 Hiurd Scarg o SyagR + fafis =wen & saRy | 3%
LCRCCER: R Rl 4

State the different phases in the behaviour of marginal product in the
law of variable proportions. Also, show the same in a diagram.

HETCTRIT 397 #acT gIBEIT Teiermferan & 1o7q, 97 §&I1 10 & €9 WE |

The following question is for the Blind Candidates only, in lieu of
Q. No. 10.

gftadt sruTai o fom 4 Hivra 3cure o Segr & fafira =won s a9esT | 4

Explain the different phases in the behaviour of marginal product in the
law of variable proportions.

THfHRIeS  SfeEfa f Serg fae” fomar % ffgaed f wwen
T | 4

Explain the implications of the “product differentiation” feature of
monopolistic competition.
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Ff¢ X ! i 10 e gedl &, a1 9eh! AT H 100 ¥ 120 3HhIA1 i Jhg
Bt 8 | 38kl hmd H 10 fowrd gig 8 o SR Wi feha wiera weft 2

Due to 10 percent fall in the price of X, its demand rises from 100 units
to 120 units. How much percentage will its demand fall due to 10
percent rise in its price ?

I AT G R YA g ST o 379 AR Higared gwemsy |

HAAAT

gq1st fop Tr=fetfigd oM 981 8 a1 Taq | 3799 I o foru swror €S .

() & HdeM hiud SR shid 8 Ifeeh B 7, o SR # gfd srferer
B |

(i) X3 YT a&qQ & | Y i hHd A gH & X 61 hma set |

Explain the meaning and implications of maximum price ceiling and
minimum price ceiling.

OR

State whether the following statements are true or false. Give reasons

for your answer :

(1) When equilibrium price is greater than market price there will be
excess supply in the market.

(ii)) X and Y are complementary goods. A fall in the price of Y will
result in a rise in the price of X.

Teh GEATcH 3STEL0T h! TR ¥ 3cH1Geh o Tgai hl Il shl SRS HIfT |
T @mTa 3R Hmra et (smw) fafy s s fii |

Explain the conditions of producer’s equilibrium with the help of a
numerical example. Use marginal cost and marginal revenue approach.

frefaftaa arferem w1 g il

IcqTE = 3tad afad! | P @ | 3ftEd feR
SIS | AN T A T N T 3
1 60 | 120 | .
2 | e |, 174 | .
3 | 54 | |,
4 54 | e | e, 15
5 | 57 345 |




16.

17.

18.

58/2/2

Complete the following table :

Output | Marginal | Average Variable Total Average
Units Cost ¥ Cost T Cost T | Fixed Cost T
1 60 | ... 120 | ...
2 | s | 174 | ...
3 | 54 | ... |
4 54 | .| 15
5 | 57 345 | ...
Qs
SECTION B
SR =TT 1 a1 37 g g 2
What is meant by trade deficit ?
gStTa et e Bt @ 2
What are capital receipts ?
EdiE o g R o w
(31) STfTfSeh S hrgi % ¥ TR Tfayfaat Tlied & |
(&) aforfSes S H< S 8 RO A Fohd @ |
(@) arfurfsres S 3ot SN Hi S & I8 @ Fohd 2 |
(3) aTfuIfs¥eh Siehi g STeurafy o foTu ==or fou <id & |

Repo rate is the rate at which

(a)

(b)
(c)
(d)

commercial banks purchase government securities from the
central bank

commercial banks can take loans from the central bank
commercial banks can keep their deposits with the central bank

short-term loans are given by commercial banks

7 P.T.O.
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20.

21.

22.
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ITCY-USTR T i 379 FaTsy |

Give the meaning of under-employment equilibrium.

St T AT gy qfd @ srfue €l 2, 9w

(31) wed i

() wed®

(@) ufafia 7& g &

(3) U Wed &, R wgd &

When aggregate demand is greater than aggregate supply, inventories
(a) fall

(b)  rise

(c) do not change

(d)  first fall, then rise

HA FAqd gC HEAREd 1 Toed WdAl AR YSia wia # efied
IR
(i) =Rl & IgeA

(i)  Grasleh & & ITH o T
GGii) kOl

Giving reasons, classify the following into revenue receipts and capital
receipts :

1) Recovery of loans
(i1))  Profits of public sector undertakings

(iii) Borrowings

a3 3eurg 3T U 3eurg | W IR |

Distinguish between domestic product and national product.

8



23. g1 % hI3 I HF TSy | 3

YT
e <kl RSt T | 38k Teehi ohl FET SIS | 3
State any three functions of money.
OR

Define money. List its components.

24, U AdEr dqed H 7 | Fmfafea sifwel & faw = &1 dfehem
@ﬁm: 4
()  Hw 99T JgR = 0-9
(i) TR U9 = 200
(iii) I T & = 10000

An economy is in equilibrium. From the following data calculate
investment expenditure :

) Marginal propensity to consume = 0-9
(i1)  Autonomous consumption = 200

(ii1) Level of income = 10000

25. ISR Sehi 1 Yol FoI i THSATT, | 4
arera
Had o H R FREw h ‘o sTavEshdeti H @ k. fafyu
qHATRU | 4

Explain money creation function of commercial banks.

OR

Explain the “varying reserve requirements” method of credit control by
the central bank.
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gATET foh forE YRR WRhH] oot J7foIaed] H HHIEHT & YTEl 37€ed |
39T B FehT 7 |

Explain how can government budget be useful in influencing allocation

of resources in an economy.

forelt Srdfegaeen & f4a9 1,100 sigar 3 7R 36 IRUMIEEY 3™ 5,500 et
7 | 9w s=a ygia 25 fae g1, at o1 | fohat gig gt 2

In an economy, investment increased by 1,100 and as a result of it

income increased by 5,500. Had the marginal propensity to save been

25 percent, what would have been the increase in income ?

o fafer gra TS ST &1 3Tehe R THT T GrEYTEET siaHt e ?
HHARRY |

What precautions should be taken while estimating national income by
income method ? Explain.

T (Tfieht) fafma @ etk weifya fowdt (Fafa sremf) fafme o & =
IR HI =TT HIfT |

HAAAT

T YGT o YoIgid 3TN STaHeaH o o9 ICTETU gt AR h! SATEAT HIfT, |

Explain the distinction between the flexible exchange rate and the
managed floating exchange rate.

OR

Explain by giving examples, the distinction between depreciation and
devaluation of domestic currency.
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30. (%) IR $md W FHad T 3IcaTe, q (W) Tohal TSI TSI 3T Hl

qieher Tmplﬁm :
(& &R #gl &)

(i)  HHGTET 1 qTRAES 250
(i) TSl i fafa o 600
(i) ™ 80
(iv) fortmm 30
(v) & 40
(vi) Tocum =1 fraa e o™ (-) 10
(vii) Taa fata 15
(vii) 3T GSi T ITHAT 20
(ix) Taa seae 10
(x) Tocu 1 faa = g 8

Calculate (a) net national product at market price, and (b) gross national
disposable income :

(& in thousand crores)

) Compensation of employees 250
(i1))  Mixed income of self-employed 600
(iii)  Profit 80
(iv) Rent 30
(v)  Interest 40
(vi)  Net factor income to abroad (=) 10
(vii) Net exports 15
(viii) Consumption of fixed capital 20
(ix) Net indirect taxes 10
(x)  Net current transfers to abroad 8
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